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1 Circle the same weights.
(3 marks)

6°C 6 kilos 6 grams

6kg 6ml 6 miles

6mm 6 kilograms 6cm
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2 How much does the bag weigh?

(2 marks)
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3 Which of these is a good estimate for the weight of the objects below?
Write the correct estimate under each object.

(3 marks)

Less than 1kg one kg more than 1kg

4  Tick under the heaviest box.
(2 mark)

4 a 4 | 4
1kg 5kg

2kg
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5 How much water is in each of these buckets?
(6 marks)
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6 Putaring round any amount in litres.
(2 marks)

7kg 3l 24mm 3cm 150

7 Which of these is a good estimate for the capacity of the objects below?
Write the correct estimate under each object.

(8 marks)

Less than 1 litre one litre More than 1 litre

milk
m =
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We can use a rough measure for capacity, like this cup.

8 Which of these is a good estimate for the capacity of the objects below?
Write the correct estimate under each object.

(8 marks)

2 cups 10 cups More than 50 cups

3

Page 7 of 10 Turn over


http://www.vectorstock.com/royalty-free-vector/black-hot-teacup-vector-960858

9 Which of these could be a temperature? Circle each one that you find.

(2 marks)
26°C 261ml 15 litres
6 miles 13 grams 12cm
one litre 76kg 13°C
Manchester London
24°C 16°C
10 a Write down the temperature in Manchester.
(2 marks)
b Compare the temperature in London and Manchester.

(1 mark)
MANCNESTIET IS evviiiiiie e et e e e e e e e e e e e eeeenne than London.
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Today’s Weather

3°C

11 a Whatis the temperature today?
(2 marks)

TeMPEratUre tOAAY IS .....iiiieeeeieeeieie e e e e e e e e e e e e e e e e e e e e e e e eeeennes

b Write a word to describe this temperature.
(1 mark)

END OF ASSESSMENT

Total
marks
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